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Note: (a) All questions are compulsory. 'f

(b) The candidate is allowed to make Suitable numeric assumptions wherever, rec}yzre;i
for solving problems ik el -:, i

. s

Q.No Question : (?,G wf Marks
Ql Consider the following credit card transactions (in ’$) 1%7 | 342

110,16,11,7,4,4,4,12,17,25,14,0,35,45. Find out the outlier, lfany«,gs;{
Inter Quartllc Range (IQR) method. Also show the five- pomt
of the given data. St
Q2 Suppose we are interested in analyzing transactfons at | 2 3

ALLELECTRONICS company with respect toﬂhe@mohase of
computer games and videos. Of the 10000 tranﬁfftxp"hg: analyzed, the
data show that 6000 of the customer trans a,p& 1nt§]uded computer
games, while 7500 included videos and 40 ﬁ‘fmcfluﬂ’éd both computer
games and videos. Make the contmgency talple of the given problem
and show that game and video purchaﬁesare*mdependent or dependent
on each other. The tabular chi- square Ve;IEle of your contingency table
with calculated degree of freede and 1evel of significance a as 0.001
is 10.28. o .:,'..a}‘.

Q3. | Find the line of best fit fof; th&}bl],ﬁwmg data points of heights and 2 3
weights of student of. ,@SE*hraﬁch using the method of least square:

Heights (in cm):#60, 162 T64 166,168
Weights (m gg) 52 55 57,60,61

Q4. Cons1der theWage rate of factory workers and number of workers as | 1 3

shoW/p it ithe fable below:
?.s}Nage Raf% (Rs/Day) Number of Workers
75090 10
1370-90 20
190-110 25
119 105 e 10 D gl |l
130-150 9

What kind of distribution the data have? Normal or positive skewed
or negative skewed? A
Q5 What are measure of central tendency? Why median is preferred over | 1 1

mean while showing average salaries by the companies? - | | |
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